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QUESTION 1

Which of the following software packages is a mail server? 

A. Postfix 

B. Thunderbird 

C. Apache 

D. GIMP 

E. MySQL 

Correct Answer: A 

 

QUESTION 2

Which command shows all of the directories that the shell searches for programs? 

A. less $PWD 

B. echo $PATH 

C. more $ALL_PATH 

D. get $PATH 

E. cat $PATH 

Correct Answer: B 

 

QUESTION 3

What is the correct command to extract the contents of the archive file download.bz2? 

A. unpack download.bz2 

B. unzip2 download.bz2 

C. bunzip2 download.bz2 

D. unzip download.bz2 

E. uncompress download.bz2 

Correct Answer: C 

 

QUESTION 4
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Which of the following programs is not a graphical web browser? 

A. Konqueror 

B. Firefox 

C. Links 

D. Opera 

E. Chrome 

Correct Answer: C 

 

QUESTION 5

Which statements are true about virtualization?(Choose two) 

A. Virtualization is not supported by Linux because of its permissions and multi-user requirements. 

B. Virtualization lets you run several operating systems on the same hardware in parallel. 

C. Virtualization is a proprietary technology that has additional licence costs even for Linux. 

D. Virtualization is a pure desktop technology that should not be used on servers. 

E. Virtualization allows separation of services, tasks and users in distinct virtual machines. 

Correct Answer: BE 
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